Kommnpeccop DC 320/24 CM2.5 (ILIUDP 614319530)

FUBAG




KOJI-

MO3UIUN KO/ HAMMEHOBAHHUE BO
1 45.008 BOJIT (M6x55) 4
2 45.092 IIIAIEA TPOBEPA 6 4
3 03.020A T'OJIOBKA [IUJIMH]JIPA 1
4 40.039A ®OUTUHI YTJIOBOM (3/8"-3/8") 1
5 35.005A ITPOKJIAJIKA T'OJIOBKH LIMJIMH/IPA 1
6 11.002 TIJIACTUHA KJIATTAHHAS 51 2
7 34.001 IIJIACTUHA KJIATAHHA S HDKHASA 51 2
8 35.002 TTPOKJIAJIKA AJIFIOMHUHUEBAS 51 1
9 35.005B [TPOKJIAJIKA KJIAITAHHOM ITIJIACTUHBI 1
10 10.035 AJIMHJIP (d51x71) 1
11 45.157 BOJIT (M8x25) 2
12 45.229 IIAMBA TPOBEPA (M8) 2
13 35.005C TTPOKJIAJIKA ITMJIMHJIPA 1
14 29.004 HABOP KOJIELL d51: 2
15 KOMIIPECCUOHHBIE+MACJIOCBEMHOE 1
16 28.009 TTOPILIEHB d51 1
17 56.008.0080 TTAJIEL] ITOPIITHS (12x44) 1
18 46.005 KOJIBIIO CTOITIOPHOE 12 2
19 03.015 IITATYH (85xd20xd12) 1

20 12.029 KPUBOIIUNII 22.5 1
21 45.154 BUHT (M8x22) 1
22 45.124 BOJIT KPEIJIEHUS KPBILIKU (M6x18) 4
23 33.001 HABOP: MEPHOE OKOIIIKO YPOBHS MACJIA 1/2" + 1
24 KOJIbIO YIIJIOTHUTEJIBLHOE 1
25 03.012A KPBILIIKA KAPTEPA 1
26 36.001 [TPOKJIAJIKA KAPTEPA 1
27 45.138 BUHT CJIMBA MACIJIA (M6x10) 1
28 03.010 KAPTEP 1
29 32.002 CAJIBHUK (B20x40x7) 1
30 27.001 KOHJIEHCATOP (30mkf/450V) 1
31 45.231 TAHKA (MS8) 1
32 45.066 IITAMBA 8 1
33 45.110 BUHT (M3x6) 2
34 45.095 IITAMBA TPOBEPA 2
35 31.006 [TOJIIIMITHUK 6204-2RS 1
36 56.005.0080 POTOP 1
37 56.004.0080 CTATOP (230V/50Hz d=135 L=86) 1
38 31.004 [TOJIIIMITHUK 6202-2RS 1
39 46.001 KOJIBLIO YIIJIOTHUTEJILHOE 1
40 03.0103 KPBILIIKA CTATOPA 1
41 45.208 BOJIT JUIMHHBIN (M5x110) 4




42 45.093 IIIAMBA TPOBEPA 5 4
43 37.001C KPBIIBYATKA 1
44 46.010 KOJIbIIO CTOIIOPHOE 14 1
45 45.203 BOJIT (M4x6) 1
46 46.066 BUPKA KABEJIbHAS 1
47 45.058 IIIABA 1
14 46.019A KOJIbIIO CTOITOPHOE 1
49 06.057 KOXYX 1
50 45511 BUHT (M5x12) 4
51 45.068A LIIAMBA IIJIOCKAS 4
52 45.124B BUHT (M6x16) 4
53 45.085 BUHT (M5x16) 4
54 26.004 CAIIYH (M16x1.5) 1
55 42.201 COEJJUHEHUE BEICTPOPA3BEMHOE 1
56 23.001C MAHOMETP 40mm (0-12Bar 1/8") 1
57 23.004C MAHOMETP 50mm (0-12Bar 1/4") 1
58 25.081 PET'YJIATOP (1/4"x1/4"x1/8") 1
59 42.026E COEJIMHEHUE PE3bBOBOE (1/4"x30) 1
60 21.002 PEJIE JABJIEHIS 1
61 24.014A KJIATIAH ITPEJOXPAHUTEJIbHBIN 1
62 42.028A AJIATITEP (1/4") 1
63 42.002B TAVKA 1
64 43.307 TPYBKA PA3TPY30YHAS (d6x205) 1
65 22.013A KABEJIb CETEBOM (1.0mmx1.5m) 1
66 08.013B PECUBEP 24L 1
67 37.008 PYKOSTKA 1
68 38.024 KJIATIAH OBPATHBIN (3/8-1/2-M10x1) 1
69 39.030 KPAH CJIMBA KOHJIEHCATA 3/8" 1
70 43.0217 TPYBKA BBIITYCKHAS (d10x600mm) 1
71 44.016 TAMKA 3/8" 2
72 46.029 ITPOKJIAJIKA TPYBKU d10 2
73 46.029A [TPOKJIAJIKA TPYBKU (d10.4) 2
74 15.026 OITOPA PE3MHOBAS 2
75 46.039B BOJIT KPEIIJIEHUS KOJIECA (M10xd16x36.5) 2
76 15.002A KOJIECO IIJTACTMKOBOE (120MM x 25MM X 12MM) 2
77 45.231 LIIAIBA TPOBEPA 2
78 45.229 TAVKA 2
79 41.009A OUJILTP BO3AYLIHBIN (1/2") 1




